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Proof comfiiunication
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Different test scenarios

4 slaves + master distributed in 2 Pc running as processes
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Benchmark

« The benchmark provides 2 selectors, each
one reading a different amount of data

— ProcOpt — Reads 25% of the data.
— Proc — Reads all the data

« Measurements in the Slave
— Packet processing time

— Get Packet Latency
— CPU Time



First results In scenario 1

Benchmark: Reads only 25% of the data

Scenario: 2 PC with each slave is running in a process




First results in scenario 1 (CPU Time)
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Second Benckmark in scenario 1

Benchmark: Reads all the data

Scenario: 2 PC with each slave
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Why those huge errors?

A viow things
should be
Packet CPU Time per Slave PROOF_CpuTimeHist
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—How things are
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Why those huge errors?
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First benchmark in scenario 2(Xen

FPacket Processing Time (Slaue)
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Get Packet Latency (Slaue)
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Benchmark: Reads only 25%
of the data

Scenario: 2 PC with each
slave runs on a guest
domain
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Second Benchmark in scenario 2

FPacket Processing Time (Slave) Get Packet Latency (Slavel

T T T T T T T
“pth Procpt® using 13213 — “latency FrocOpt' using 1%

Frocessing Time [secl
Latency [secl

I 1 I 1 1 I 1 1 1 I 1 1 1
Soa6 1a666 15666 L] 25600 L] L) 1BE6E 15686 L] 25880 30680 25800

Events per slsves Events per slaves

CPU Time (Slave)

T y T T
"CPU Proclpt" using 112313 —e—

CPU Time [secl

I | | I | I
18608 15869 2gegn 25864 elall:]c) 35008
Events per slaves




Graphica

-
[a]
L]
n

—
L]
=

.

(-
ban]
=

o
[}
n
L1}
L}
o
LS

o

| comparison Xen-PCs

Facket Processing Time (5lawvel

GEaa =pa]s]s]
Events per =slawves

13



Graphical comparison Xen-PCs
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Comparison

Latency Proc CPU
» |Opt |0.0060823 0.767716 |0.418625
i
g Proc |0.00664648 |0.771708 |0.771708
Opt |0.0341873 |0.810273 |0.386286
5
< |Proc |0.0444994 0.69751 |0.415625
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Conclusions

« As the error in the data is significant the
result (CPU time) is not relevant — no
realistic information.

e In the communication , last transmitions
are enormous, and introduce a lot of noice
— Bottleneck in the master

— Possible solution move the master to another
node
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